2 2000A

t

L=

Z0

2

i
| 30.4%, s=¢lok 2 482842t=2] 30.0%

"o
=i

1,292

L
[

2003 9&IMA|S] ETV|7| #E= WA E

JELY

ERE

SRS

-
e

22 o 2020
| &9 1,796

il

, TRi0] 745t
el 77| ™

=
=

=9

b

u]
—

H

A

2 =0 AlEol2t & = Qlot

—
—

t

5l

£ AR

267K

24
=

1724EE 11

ool 20034 112
g Em s

2=
=

Cgd el4tof 10:20

=
[

2 2:20] 0|20{%]

A

1
s

of

Kl
i1}
g
™
3
=
in
ol
il
<
™
S

vtz E|ZAEst &

Jurn )
f)

A = Ak,

®r
<
~
il
i
o5 S
& o
o 70
N oW
)
i}
W
< ®
o) O
. k!
= =
i =z
a0
Ko O
<
[
a5 N
20
ol T
WK =2
T o
o =
o °
Ko O
oy
wUOj
KH ®
~Oo ol
o Tl
o oF

o, Z3UE 2

A el ZAKIR I

2

=1
i

&g

2|, =

MIA|off CHEE

f
[y

oh M2

X

=5
(A

9x

=xjojgt | 18




Eﬂ%q WK R OO M s oo N S 3l
Bl g mluld@lgstgl W K
Q_EOTEEM. 5 CUOR SR g gy Toon Yoy oo._._r...Al
gl ™ 1] E*Ao*._mh_..ﬂa o_m.:n_.WOM:I_EmLUILI _ﬂu__o._ﬂu
W - IR sENREIM Ko H TR
=222 T o & o= mE R Mg
of oo & off a2 l_.illAEH.E_Lo.AdH. —
= Y s Sew e = W
By N o K o= o - T Tz 3
R0 = Ho of KD Rl DWWy T ST o oK
W U T MR R Mooz T N m oo
|__._ O_._ .Io — = == OM e O] . — =< ol Toll = N
Wk 2ol Bogoor By g oo N o gl r N g
o] . ol &’ E_EELEEO%MO___EQAT}E o T O
= T W mu L.Aoﬂo:._mTo_mL_”_::i [ . S
Bl R g TR T WMy gy o<
1o. Fre2s KO =T An_luw.J.DIMA_IULh_/‘_ A ,_n.u_.,Ax Tl X0 B I
o W R g O &S T A Aol gy W Wy
S NN TouE s 3Tl gl
ENKHT Fegssn NIy ona s
Mo oW ENFMHNTAHMAIFSTH T WK

aw F 1
r Ry H o
G Lxﬁﬂ =Y
< o Hox@ Al U
Ehw maWlo M K
Q zr ot Kb K- L it
. bl IA.UI.:....._.AIO — <0
~: Ol 1o e omo
mM;umm xumauﬂ ___u.emw__ﬂ_U
o3 I = e z_ to o8
Zols F7opy =2
ommﬂ.m@ %c_o_._m.m____h .xmm,
Wy M/_w.mmrzu“_.c miley
LbFm w3 xR 0
32 GRS T =
= ol o ol = [ O & Kl
o K @ o o o
G = T RO
=7 3 B .
i) ok = M [H]
=1 & — =T
552 GEob s £
o ol s — — = o
iy AU ._um ou Bl R0 w0 2 o
oA ) T
b= W T oE g —
K 0 X
Towm wEsk I
&l |Xro %0 J.M m.o .*M.._ = KH
= oo o= KUowooml oo = 1l
1o T MR g - s 4
T I VX s X
W o % " W & wu s =

[

-
=
=

e =}
oIMEE 7]

'

Hgts
(= 7[ 2|

MS{Af e o
=]

=

E O|TSE 22 MROii o] AlRts

A AlH 2

[

|

fU4
0| AlEoj otz

o]
=
=
[m}

A

ol

of chst 7|

oz AZHo]

=

X of7]of 2t

4

©:
[at)

Che AREE, A
o= E2

at
=]

IZ 71MF0f 1

A
=

b

rut
ot

4

t

Lt of X|<of
14 | BT &7

24
AR



FOi| Af

eI

che 24

2

=

4, 0| Of

O

P =712 arQl BTS2 & 7L 7|

, L 2|AL

2l

[A}

k=)

| F{M A 2F M- 2d|2Ro] 22

(5]

b

ol
[

oA =

4l
iof

P

7

t

71

[

[~

i 7t

o

[IE HIEIOR | EF o] HE

= ofe] 7K Bx, A5

A

ol
jn

q|

b

!

=]
=

2=

2 EX7t o|F0f

[nl3
s

oflAf M| Z=gdotl o

H

=
=

&
Kto
~
1

b

Hok
=

5]

S

P

off o
0|

~
ol
KM
'}

A

| T

-
=
T

[

=0
H|Z=L
2|

=

b

=
=

=

=

e
A

|

=)

=l

q

o4
1M E7|1Hel ol

—

S#0{x{of

O

12}
5}

3

oM
2R M 0|29 JEeR T

K‘{SE
2
A7

Kol

ol
(o]

S

.‘

=3
2t

=

3

[ew]

=
A
X
=

Ko

SHME
Sxloig 115

I

(=1
o

EEUct O

i LHAIE 28 EHA B

0

23] F&|2] AIEH

t

HKX|
=
12 A3

S
S

=

| 2HA|RE 2501A

a

o] 25 M7} ASAE Ml AAFof et A7
[e13
LE

1 017|%|
|

[

H

3

o= nt

o

9]

e

CHA

3

i)

[eEE¥N
[+

of cH

=1

k=

A

&=

=13

el ojn|et Hede= TE
A2

=
=

=<
=)

k=3

| 712
o] =24

=l

)

EZH0|M it CCPITEZZHMSE

oflAf &
=
HEL

o
=

[=]



